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QUESTION 1

You configured static mode power management on an EX4300 to provide PoE power to telephone and access point
equipment.

Which statement is correct regarding the PoE power budget?

A. Power is budgeted to devices on a first come, first served basis as devices are connected.
B. The power budgeted will be based on the device class connected to each port.

C. Power is budgeted to a port even if no device is connected to the port.

D. The power budgeted to ports will adjust to how much power a device actually uses.

Correct Answer: C

QUESTION 2

Click the Exhibit button.
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{master:0)] [edit]
userfswitch$ shecw interfaces ge-0/0/1
native-vlan— id 20;
unit 0 {
family Ethernet—-switching {
interface—-mode trunk;
wlan

membhers [20 wvoice];

[—

{master:0)] [edit]

userfswitchf show protocols 1ldp—med

{master:0} [edit]

ugerfawitch# show awitech— options

{master:0)] [edit]
uzerfswitch# show vlans
data {
vlan—-id-20;
l3-interface irb.20;
}
voice {
wvlan—-id 30;

You have a workstation and VolP phone connected to port ge-0/0/1 on an access switch. Referring to the configuration
shown in the exhibit, which statement is true?

A. The phone will require a manual VLAN ID configuration.

B. Untagged frames that enter the switch on interface ge-0/0/1 will be dropped.
C. All frames that leave the switch on interface ge-0/0/1 will be tagged.

D. The phone will not be able to communicate over the network.

Correct Answer: C

QUESTION 3

What information must you gather from the satellite device to provision a Junos Fusion Enterprise deployment on the
aggregation device? (Choose two.)
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A. MAC address
B. Serial number
C. Software version
D. Model number

Correct Answer: AB

QUESTION 4

Click the Exhibit button.
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Switch 4 is rebooted as shown in the exhibit.
Which statement is correct in this scenario?
A. CIST is reconverged.

B. MSTI-1 is reconverged.

C. CIST generates notification events.

D. MSTI-2 is reconverged.

Correct Answer: B

QUESTION 5

You have certainly implemented the configuration shown in the exhibit. After committing these changes, the community
devices connected to AS-1 are not able to communicate with the appropriate community devices connected to AS-2.
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What must be done to allow these community devices to communicate?

A. You must configure an isolation VLAN ID Under the pvlan-200 on the AS2 switch

B. You must configure the ge-0/0/10 interface on AS1 AS THE VPLAN on both switches
C. You must configure an isolation VLAN ID under the VLAN 200 ON both switches

D. You must configure the ge-0/012 interface on both switches as P VLAN trunks

Correct Answer: D
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